
4In the worst 
ase...

) E.g. 50 integer variables: x0; : : : ; x49) 250 � 1015 bran
hes� Solve one 
ontinuous problem in 10�6 se
onds )109se
onds � 30 years (10�9 se
onds ) � 1.5 weeks)

3Standard algorithm (in e.g. Cplex or Xpress-MP)Relax integrality requirements )linear, 
ontinuous problem ) (x�; y�) = (5 14 ; 4 34)Sear
h tree: bran
h overfra
tional variable values

PSfrag repla
ements

not feasibleintegerinteger
x � 5 x � 6y � 4 y � 5

(x�; y�) = (5; 4 23 )
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2A linear integer model

maximize x + 2ysubje
t to x + y � 10 (1)�x + 3y � 9 (2)x � 7 (3)x; y � 0 (4; 5)x; y integer
(x�; y�) = 0� 64
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q = feasibleinteger points
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1A linear 
ontinuous optimization model

maximize x + 2ysubje
t to x + y � 10 (1)�x + 3y � 9 (2)x � 7 (3)x; y � 0 (4; 5)
(x�; y�) = 0� 5 144 34
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x+ 2y = 01 2 3 4 5 6 7 8 9123
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